
 
 
 
 

 
MENSURATION – AREA Work Sheet  

S.N
o 

Name of the 
figure (ngah;ngah;ngah;ngah;) 

Figure 
(glk;glk;glk;glk;) 

Area (Sq. 
Units) 
gug;gsT gug;gsT gug;gsT gug;gsT 
(r.myF)(r.myF)(r.myF)(r.myF)    

Perimetre (P) 
Rw;wsTRw;wsTRw;wsTRw;wsT    

1. Triangle 
Kf;Nfhzk; 

 

1

2
 x b x h AB + BC + CA 

2. 
Right triangle 
Nrq;Nfhz 
Kf;Nfhzk; 

 

1

2
 x b x h 

(base + height + 
hypotenuse) 

3. 

Equilateral 
triangle 
rkgf;f 
Kf;Nfhzk;  

3

4
 a2 where 

( 3  = 1.732) 

AB + BC + CA= 3A; 
Altitude ,  

h = 
3

2
a units 

4. 

Isosceles 
triangle 
,U rkgf;f 
Kf;Nfhzk;  

h x 2 2
a h−  2a + 2 2 2

a h−  

5. 

Scalene 
triangle 
(mrkgf;f 

Kf;Nfhzk;)  

( )( )( )s s a s b s c− − −

 
Where a = 

2

a b c+ +
 

AB + BC + CA 
= (a + b + c) 

6. 
Quadrilateral 
(ehw;fuk;) 

 

1

2
 x d x (h1 + 

h2) 

AB + BC + CD + 
DA 



 

 Square (%iytpl;lk;) (d) (Diagonal length) = 2a  
 

Area of Triangle    Kf;Nfhzj;jpd; gug;G Kf;Nfhzj;jpd; gug;G Kf;Nfhzj;jpd; gug;G Kf;Nfhzj;jpd; gug;G     

 If 1 1 2 2
( , ), ( , )A x y B x y and 3 3

( , )C x y
 are the vertices of a ABC∆     then 

the area of the ABC∆ is 1 2 3 2 3 1 3 1 2

1
{ ( ) ( ) ( )}

2
x y y x y y x y y− + − + −  sq.units 

 

 

Square  
 

1. If each side of a square is increased by 20%, its area is increased by… 
a. 40%  b. 42%  c. 44%  d. 46% 
xU rJuj;jpd; gf;fq;fs; 20% mjpfhpf;fg;gl;lhy;> mjd; gug;G vj;jid 
tpOf;fhL mjpfhpf;Fk;? 
a. 40%  b. 42%  c. 44%  d. 46% 

 

7. Parallelogram 
(,izfuk;) 

 

b x h 2 x (a + b) 

8. Rectangle 
(nrt;tfk;) 

l x b 2 x (l + b) 

9. 

Trapezium 
(rhptfk;) 

 

1

2
 x h x (a + b) 

AB + BC + CD + 
DA 

10. 

Rhombus 
(rha;rJuk;) 

 

1

2
 x d1 x d2 

where d1, d2 
are diagonals 
(%iytpl;lk;) 

4a 

11. 

Square 

 

a2 4a 



2. If the side of a square is increased by 8 cm, the area increases by 192 sq. cm. 
What is the side of the square? 
a. 8   b. 9   c. 7   d. 10 
xU rJuj;jpd; gf;f msit 8 nr.kP mjpfg;gLj;jpdhy; mjd; gug;G 192 r.nr.kP 
mjpfhpf;fpwJ. mg;gbnadpy; gf;fj;jpd; msT mjpfg;gLj;Jtjw;F Kd;G 
a. 8   b. 9   c. 7   d. 10 

 
3. The fencing charges of square shaped park is Rs.1600/- at the rate of Rs.4/- 

per metre. The area of the park is 
a. 10000m 2   b. 1000m 2     c. 100000m 2    d. 400m 2  
xU rJu tbt G+q;fhtpw;F Ntyp mikf;f xU kPl;lUf;F & 4/- tPjk; & 

1600-nrythfpwJ vdpy; G+q;fhtpd; gug;gsT 

a. 10000m 2   b. 1000m 2     c. 100000m 2    d. 400m 2  
 

RECTANGLE  

 
4. The length of a rectangle is increased by 10% and its breadth is decreased by 

10%. The area of the new rectangle.   
 a. remain same    b.  Increased by 1% 
 c. decreased by 10%   d.  Decreased by 1%  
 xU nrt;tfj;jpd; ePsk; 10% mjpfhpf;fg;gLfpwJ kw;Wk; mjd; mfyk; 10% 

 Fiwf;fg;gLfpwJ vdpy; Gjpa nrt;tfj;jpd; gug;gsT. 
 a. remain same    b.  Increased by 1% 
 c. decreased by 10%   d.  Decreased by 1%  

 
5. One side of a rectangular field is 12m and one of its diagonals is 15m. Find out 

the area of the field. 
a. 108 sq.m  b. 216 sq.m  c. 128 sq.m  d. 52 sq.m 
xU nrt;tfj;jpd; ePsk; 12 kP> mjd; %iytpl;lk; 15 kP vdpy; nrt;tfj;jpd; 
gug;gsT fhz;f. 
a. 108 sq.m  b. 216 sq.m  c. 128 sq.m  d. 52 sq.m 
 

6. The area of a rectangle is 460 square metres. If the length is 15% more than the 
breadth, what is the breadth of the rectangular field? 
a. 15 metres  b. 26 metres c. 34.5 metres d. 20 metres 
xU nrt;tfj;jpd; gug;gsT 460 r.kP. mjpy; ePskhdJ mfyj;ijf;fhl;bYk; 15 
rjtPjk; mjpfnkdpy; mr;nrt;tfj;jpd; mfyk; vd;d? 
a. 15 kPl;lh;  b. 26 kPl;lh;  c. 34.5 kPl;lh;  d. 20 kPl;lh; 

 



7. A garden is in the form of a rectangle of dimension 30 m × 20 m. A path of 
width 1.5 m is laid all around the garden on the outside at the rate of Rs.6 per 
sq.m. What is the total expense? 
a. Rs.495  b. Rs.754  c. Rs. 854  d. Rs. 954 
nrt;tf tbtKs;s xU Njhl;lj;jpd; msTfs; 30 kP x 20 kP. Njhl;lj;ijr; 
Rw;wp ntspg;Gwj;jpy; 1.5 kP. mfyj;jpy; xU rPuhd ghij rJukPl;lUf;F &.6 
tPjk; mikf;fg;gLfpwJ vdpy; mjd; nkhj;j nryT 
a. Rs.495  b. Rs.754  c. Rs. 854  d. Rs. 954 
 

8. A rectangular ground is 80m long and 60m broad. It has two cross roads of 
equal width one is parallel to length and the other parallel to breadth. If the 
area of these roads is 675 sq.m. Find the width of each road.  
a. 3m   b. 5 m  c. 7m   d. 10m 
xU nrt;tf epyj;jpd; ePsk; 80 kP mfyk; 60kP. epyj;jpy; ePsj;jpw;F 
,izahfTk;> mfyj;jpw;F ,izahfTk; xNu mfyKs;s topg;ghij cs;sJ. 
topg;ghijfspd; gug;G 675 r.kP vdpy; ghijapd; mfyk; vd;d?  
a. 3m   b. 5 m  c. 7m   d. 10m 
 

RHOMBUS 

9. A field is in the form of a rhombus.  The diagonals of the fields are 50 m and 
60 m.  Find the cost of levelling it at the rate of `2 per sq. m. 
a. `2900   b. `2800  c. `3000  d. `2700 
xU tayhdJ rha;rJu tbtpy; cs;sJ.  taypd; %iytpl;l msTfs; 50kP> 
60kP. me;j taiyr; rkd;nra;a rJu kPl;lUf;F `2 tPjk; MFk; nryitf; 
fhz;f. 
a. `2900   b. `2800  c. `3000  d. `2700 
 

10. The length of the diagonals of a rhombus are 24 cm and 18 cm. Find the length 
of each side of the rhombus. 
a. 16 cm   b. 10  cm  c. 16 cm  d. 15 cm 
rha;rJuj;jpd; %iytpl;lq;fs; 24 nr.kP> 18 nr.kP vdpy;> mjd; gf;f 
msTfisf; fhz;f.  
a. 16 cm   b. 10  cm  c. 16 cm  d. 15 cm 
 

PARALLELOGRAM 

11. The base of a parallelogram whose area is 800 cm2 and height 20 cm is 
a. 20 cm   b. 30 cm  c. 40 cm  d. 50 cm 
gug;gsT 800 nr.kP.> Fj;Jauk; 20 nr.kP. nfhz;l ,izfuj;jpd; mbg;gf;fk; 
a. 20 cm   b. 30 cm  c. 40 cm  d. 50 cm 

 



12. A ground is in the form of a parallelogram.  Its base is 324 m and its height is 
75 m.  Find the area of the ground. 
a. 23,300 m2  b. 24,300 m2 c. 22,400 m2 d. 23,500 m2 

xU tpisahl;Lj; jply; ,izfuk; tbtpy; cs;sJ. mjd; mbg;gf;fk;  
324 kP  kw;Wk; Fj;Jauk; 75 kP vdpy; tpisahl;Lj; jplypd; gug;gsT vd;d? 
a. 23,300 m2  b. 24,300 m2 c. 22,400 m2 d. 23,500 m2 

 

13. Find the area of the following figures: 
 fPo;f;fhZk; glj;jpd; gug;gsitf; fhz;f. 

   
 a. 750 cm2  b. 850 cm2  c. 700 cm2  d. 650 cm2 

 

14. Find the area of each of the following parallelogram 
fPo;f;fhZk; ,izfuq;fspd; gug;gsTfisf; fhz;f: 

    
 a. 25 cm2  b. 45 cm2  c. 22.5 cm2  d. 42 cm2  
 

15. Find the area of the following figure: 
fPo;f;fhZk; glj;jpd; gug;gsitf; fhz;f. 

  
a. 175 cm2   b. 170 cm2  c. 173 cm2  d. 168 cm2 
 

TRAPEZIUM 

16. The area of a trapezium is 102 sq. cm and its height is 12 cm.  If one of its 
parallel sides is 8 cm.  Find the length of the other side. 
a. 7 cm  b. 8 cm  c. 11 cm   d. 9 cm 



xU rhptfj;jpd; gug;gsT 102 r.nr.kP> nrq;Fj;Jj; njhiyT 12 nr.kP.  
rhptfj;jpd; ,izg;gf;fq;fspy; xU gf;fj;jpd; ePsk; 8 nr.kP vdpy; kw;nwhU 
gf;fj;jpd; ePsnkd;d? 
a. 7 cm  b. 8 cm  c. 11 cm   d. 9 cm 
 

17. A garden is in the form of a trapezium.  The parallel sides are 40 m and 30 m.  
The perpendicular distance between the parallel side is 25 m.  Find the area of 
the garden. 
a. 874 m2  b. 875 m2  c. 872 m2    d. 870 m2 
xU Njhl;lkhdJ rhptfk; tbtpy; cs;sJ.  mjd; ,izg;gf;fq;fs; 40 kP> 30 
kP. ,izg;gf;fq;fSf;F ,ilNa cs;s njhiyT 25 kP. Njhl;lj;jpd; gug;gsT 
fhz;f. 
a. 874 m2  b. 875 m2  c. 872 m2    d. 870 m2 
 

QUADRILATERAL 

18. A diagonal of a quadrilateral is 25 cm,  and perpendicular on it from the 
opposite vertices are 5 cm and 7 cm.  Find the area of the quadrilateral. 
a. 150 cm2  b. 145 cm2  c. 155 cm2   d. 125 cm2 
xU ehw;fuj;jpd; %iytpl;lk; 25 nr.kP vjph; cr;rpfspy; ,Ue;J 
%iytpl;lj;jpd; Nkyike;j nrq;Fj;jpd; ePsq;fs; 5 nr.kP> 7 nr.kP vdpy; 
ehw;fuj;jpd; gug;gsT ahJ? 
a. 150 cm2  b. 145 cm2  c. 155 cm2   d. 125 cm2 

 
19. The area of a quadrilateral is 54 cm2.  The perpendiculars from two opposite 

vertices to the diagonal are 4 cm and 5 cm.  What is the length of this 
diagonal? 
a. 11 cm   b. 13 cm  c. 12 cm  d. 8 cm  
xU ehw;fuj;jpd; gug;gsT 54 nr.kP2.  mjd; ,U cr;rpapypUe;J %iy 
tpl;lj;jpw;F tiuag;gLk; nrq;Fj;jpd; ePsq;fs; 4 nr.kP> 5 nr.kP vdpy; 
%iytpl;lj;jpd; ePsnkd;d? 
a. 11 cm   b. 13 cm  c. 12 cm  d. 8 cm  
 

CIRCLE 

 
20. A copper wire is in the form of a circle with radius 35cm. If it is bent into a 

square then the side of the square will be 
a. 220 cm   b. 55 cm   c. 35 cm   d. 70 cm 
xU tl;l tbtpyhd jhkpu fk;gpapd; Muk; 35 nr.kP. ,J xU rJukhf 
tisf;fg;gl;lhy;> mr;rJuj;jpd; gf;f msT  
a. 220 cm   b. 55 cm   c. 35 cm   d. 70 cm 
 



21. The radius of a wheel is 14cm. If it revolves 1000 times, the distance traveled is 
a. 440 m  b. 880 m  c. 1400 m  d. None of these 
xU rf;fuj;jpd; Muk; 14 nr.kP. mJ 1000 Kiw Rod;why; nry;yf;$ba J}uk;? 
a. 440 m  b. 880 m  c. 1400 m  d. ,tw;Ws; vJTkpy;iy  

 
22. A uniform circular path of width 4m is laid out around a circular park of 

radius 48m.  find the area of the circular path  
a. 1156 2

m   b. 1155 2
m   c. 400π

2
m    d. 1154 2

m  
48  kP Mukhff; nfhz;l tl;l tbtg; G+q;fhtpd; ntspg;Gwj;jpy; 4 kP mfyj;jpy; 
rkr;rPuhd tl;lg;ghij mikf;fg;gLfpwJ. mg;ghijapd; gug;ig fhz;f. 
a. 1256 2

m   b. 1255 2
m   c. 400 π 2

m    d. 1254 2
m  

 

TRIANGLE 

 

23. If the area of an equilateral triangle is 4 3  cm, then its perimeter is...  

 a. 6 3  cm            b. 6 6  cm            c. 3 3  cm             d. 12 cm 

 xU rkgf;f Kf;Nfhzj;jpd; gug;G 4 3 kP2 vdpy; mk;Kf;Nfhzj;jpd; Rw;wsT 

 a. 6 3  cm            b. 6 6  cm            c. 3 3  cm             d. 12 cm 
 
24. The three sides of a triangle are 13 cm, 14 cm and 15 cm respectively. Find out 

its area. 
 a. 42 cm2             b. 21 cm2             c. 84 cm2              d. 64 cm2 

 xU Kf;Nfhzj;jpd; %d;W gf;f msTfs; KiwNa 13 nr.kP> 14 nr.kP> 15 
 nr.kP vdpy;  gug;gsT fhz;f 
 a. 42 cm2             b. 21 cm2             c. 84 cm2              d. 64 cm2 

 

25. Which one of the following cannot be the sides of a triangle? 
       a. 15cm, 12cm, 10cm   b. 3.6 cm, 4.3 cm, 5.7 cm. 
       c. 17 cm, 12 cm, 6 cm   d. 2.3 cm, 4.4 cm, 6.8 cm. 

gpd;tUtdtw;Ws; vit Kf;Nfhzj;jpd; gf;fq;fshf ,Uf;f KbahJ? 
       a. 15cm, 12cm, 10cm   b. 3.6 cm, 4.3 cm, 5.7 cm. 
       c. 17 cm, 12 cm, 6 cm   d. 2.3 cm, 4.4 cm, 6.8 cm. 
 
26. A garden is in the form of a triangle.  Its base is 26 m and height is 28 m.  Find 

the cost of levelling the garden at `5 per m2. 
a. ì 1,800  b. ì 1,900  c. ì  1,820   d. 2,000 
 
 



xU Njhl;lkhdJ Kf;Nfhz tbtpy; cs;sJ.  mjd; mbg;gf;fk; 26 kP> cauk; 
28 kP.  Njhl;lj;ijr; rkd;nra;a rJu kPl;lUf;F Rs. 5 tPjk; MFk; nkhj;j 
nryitf; fhz;f. 
a. ì 1,800  b. ì 1,900  c. ì  1,820   d. 2,000 
 

Sector  

27. Three identical coins, each of diameter 6 cm are placed as shown. Find the area 

of the shaded region between the coins. (π = 3.14) ( 3 1.732)=  

     
a. 1.46 cm2   b. 1.45 cm2  c. 1.65 cm2  d. 2.46 cm2 

xt;nthd;Wk; 6 nr.kP tpl;lKs;s %d;W xj;j ehzaq;fs; glj;jpy; 
fhl;bAs;sthW itf;fg;gl;Ls;s ehzaq;fSf;F ,ilapy; milgl;Ls;s 

epoyplg;gl;l gFjpapd; gug;gsitf; fhz;f. (π = 3.14) ( 3 1.732)=  

a. 1.46 nr.kP2 b. 1.25 nr.kP2  c. 1.65 nr.kP2 d. 2.46 nr.kP2 

 
28. Four identical medals, each of diameter 7 cm are placed as shown. Find the 

area of the shaded region between the coins.  

      
a. 11.5 sq.cm  c. 9.5 sq.cm  b. 10.5 sq.cm  d. 10.4 sq.cm 
7 nr.kP tpl;lKs;s ehd;F gjf;fq;fisg; cs;sthW itf;Fk; nghOJ> 
,ilapy; milgLk; epoyplg;gl;l gFjpapd; gug;gsitf; fhz;f.  
a. 11.5 sq.cm  c. 9.5 sq.cm  b. 10.5 sq.cm  d. 10.4 sq.cm 
 

29. From the tree vertices of an equilateral triangle of side 12 cm. Nishanth cuts 
sectors of 5 cm radius each and forms the following shape. Find the area of 
that shape. (π = 3.14)  

    
a. 11.5 π sq.cm   b. 12.5 π sq.cm  c. 12.4 π sq.cm  d. 10.5 π sq.cm 



ep~he;j; vd;gth; 12 nr.kP gf;f msTs;s xU rkgf;f Kf;Nfhzj;jpd; %d;W 
cr;rpfspypUe;Jk; ntl;bnaLf;fg;gl;l 5 nr.kP. MuKs;s tl;lf;Nfhzg; 
gFjpfisf; nfhz;L gpd;tUk; tbtj;ij cUthf;Ffpwhh;. mjd; gug;gsitf; 
fhz;f. (π = 3.14) 

a. 11.5 π sq.cm   b. 12.5 π sq.cm  c. 12.4 π sq.cm  d. 10.5 π sq.cm 
 

30. Find the central angle and area of a palm leaf fan (sector) of radius 10.5 cm and 

whose perimeter is 43 cm. 
22

7
π
 

= 
 

 

   
a. 115.5 cm2  b. 120.5 cm2 c. 110.5 cm2  d. 115.3 cm2 
Muk; 10.5 nr.kP kw;Wk; Rw;wsT 43 nr.kP msTfs; nfhz;l xU gidNahiy 

tprpwpapd; ikaf;Nfhzk; kw;Wk; gug;gsitf; fhz;f. 
22

7
π
 

= 
 

 

a. 115.5 nr.kP2  b. 120.5 nr.kP2 c. 110.5 nr.kP2 d. 115.3 nr.kP2 
  


